
PEDESTAL ASSEMBLY - EFFECTIVE WITH SIN 163807 - SHEET 1 OF 2 



PEDESTAL ASSEMBLY - EFFECTIVE WITH S/N 163807 - SHEET 1 OF 2 

ITEM 

1 
2 

3 
4 

5 

6 

7 
8 

9 

10 
1 1 

12 

13 
14 

15 

16 

17 

18 
19 

20 
21 

22 

23 

24 

29 

COMM.NO. 

N.SV.A. 
5921 1896 

59 1 84689 
5921 3405 

59214650 

9674 1 046 
592554 14 

59148569 

96702386 

59255588 
59126946 

589 1726 1 

59126961 

95866687 

95371258 
96740204 

96702279 

96726872 

96702824 
96704580 

59228338 

54479886 

59148684 
9674 1 05 3 

96702873 

5901 0645 

DESCRIPTION 
BOhl 59276865 

Instrument Panel 
Pedestal 

Steering Orbital 
Steering Wheel 

U-nut 

Flatwasher 

ThrottleBracket 
B.H.C.S 

H.H.C.S. 

Throttlecable 
Ignitionswitch 

-Ignition Key 

IgnitionSwitchNut 

Adapter 

Adapter 
Washer 

H.H.C.S. 

HexNut 

H.H.C.S. 
Locknut 

Buttonplug 

Conduitclamp 

B.H.C.S. 
Flatwasher 

Locknut 

Stainless Washer 

1 

1 

1 

6 

3 
1 

2 

2 
1 

1 

A/R 

1 
2 

2 

1 

3 
1 

6 
4 

1 
1 

1 

1 
1 
1 

DIMENSIONSlNOTES 

1 See Section - D.5 

MI0 

M5-0.8 x 12 

M5-0.8 x 12 

M8x25  

M10x20 

M16-1.5 

M8x20  
M5 

M6x20  

M6 


